α=w+(S+F).m; β=(S+F).m; γ=S.m; θ=w+S.m

-αX1+ β.X2+0X3+0X4+0X5+0X6+0X7+0X8+0X9+0X10=-wX0
wX1-α.X2+β X3+0X4+0X5+0X6+0X7+0X8+0X9+0X10=0

0X1+wX2-α. X3+β X4+0X5+0X6+0X7+0X8+0X9+0X10=0

0X1+0X2+w.X3-α. X4+β X5+0X6+0X7+0X8+0X9+0X10=0

0X1+0X2+0X3+w. X4-αX5+βX6+0X7+0X8+0X9+0X10=0

0X1+0X2+0X3+0X4+wX5-αX6+βX7+0X8+0X9+0X10=0

0X1+0X2+0X3+0X4+0X5+wX6-αX7+γ X8+0X9+0X10=-FYR
0X1+0X2+0X3+0X4+0X5+0X6+wX7-θ X8+γ X9+0X10=0

0X1+0X2+0X3+0X4+0X5+0X6+0X7+wX8-θX9+γX10=0

0X1+0X2+0X3+0X4+0X5+0X6+0X7+0X8+wX9-θX10=0

